nombre a obtenir :

Défi calcul .....
O/5/3|6|10/0(10|7 |1 |6

912148389252

411110/ 5|7(1|/8|10/ 0] 4

8/3|8|3(10/4 |3 5|92

2/7|/6|0(9|5|2 4|76

10/ 6 1106 |3 |0 9|16 |5

5318|912 |7|1) 4

10,2 710498 |4 (10| 9

O(7(8]1|5|5|2|10|8 |4

3/6(9|3|10/0|6 |7 1|7

nombre a obtenir :

Défi calcul .....
O/5/3|6|(10/0(10|7|1|6

9/12(4/8|3|8|]9|2|5]|2

4111057 ,1,8|10/0 |4

8/3(8[3|10/4|3|5|9|2

2/7/6]0|9|5|2|4,7/|6

106 1106 | 3|09 |1|6 |5

5(3(1/8|9|1|2|7|1) 4

1027 110/4|19|8|4]10|9

O,7|8|1|5|5|210/8|4

3/6/9|3(|10/0|6 7|17




